KBS   TEST 1



NAME:

Problem 1. 

Use LERS strategy to find all certain and possible rules describing  D  in terms of A, B, C  from the table below.
X
a
b
c
d

x1
1
0
2
1

x2
0
0
1
2

x3
2
0
2
1

x4
0
0
2
2

x5
1
2
2
1

1. Problem 2
Discretize the decision table below (use Rosetta strategy) assuming that D is the decision attribute. 
X
a
b
d

x1
1
3
1

x2
3
10
2

x3
5
5
1

x4
1
8
2

x5
10
5
1

x6
5
10
2

x7
3
5
1

Problem 3

Find all representative rules RR(3,80%) for the following set of transactions:  abcd, abcd, acde, bdef, bde, abdf, bc.

Problem 4

Apply FP-tree strategy to find all frequent itemsets for the set of transactions {abcd, abcd, acde, bdef, bde, abdf, bc}. Assume that minimal support is 2.

Problem 5

Systems  S1 , S2  are defined below:


a
b
c
d

x1
a1
b2
c1
d1

x2
a2
b2
c1
d2

x3
a1
b1
c2
d2

x4
a2
b2
c2
d2

System S1


c
d
e
f

x2
c1
d2
e1
f2

x5
c2
d1
e2
f2

x6
c2
d1
e2
f2

x7
c1
d3
e2
f1

x8
c3
d1
e1
f1

System S2

Find certain and possible objects in  S1 satisfying global query  a1*e2*f2.

Use  S2  to extract definitions of  e2  and  f2. It is not allowed to extract definition of  e2*f2.

